What is the difference between an arithmetic and a geometric sequence’
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Week 13, Lesson 1 -2 Sequences and Series
) i What is the difference between an arithmetic and
: 1 . Warm Up : - a geometric sequence?

. Sequences and Series

.ICA -
.STUDY! =c

Warm-up Warm-up Warm-up Warm-up Warm-up Warm-up Warm-up Warm-up Warm-up Warm-up Warm-up Warm-up Warm-up Warm-up Warm-up Warm-up Warm-up

Warm-up: On your reference sheet, find the formulas for

Sequences Series

Arithmetic:

Geometric:



Notes Notes Notes Notes Notes Notes Notes Notes Notes Notes Notes Notes Notes Notes Notes Notes Notes Notes Notes Notes Notes Notes Notes Notes Notes Notes

Standard 1.7 and 1.8 Sequences and Series

Sequence: -A simple PATTERN
Series: -ADDING UP a simple pattern
Arithmetic: | -To move from one term to the next, you
ADD a common difference
Sequence u = u] + (n — l)d Q)Arithmetiopdf
DEGLCTGC (N ;
Series n Arithmetic SUM
= 8, —E(ul +u,) -
Geometric: | -To move from one term to the next, you
MULTIPLYa common ratio
n—1 )
Sequence u = ulr égeomemc.pdf
n §
Series )
— geometric sum.pdi
Y
Summary: Explain what is the fundamental difference between arithmetic and

geometric sequences. Then, explain the difference in the affect on the
terms



Example 1: ind the |9’ »f the sequence below, and
then find thegunpofithessequencesofitheSstenms

64,60,56,...,1/!9
=
e Uit (DN U= (e
i+ (1) 9 (+33)
{w=332] arL <

Example 2:  Find the 35" term of the sequence below, then
find the sum of the sequence of the 35 terms

32768 l16384 |8192 35

Example 3:  First, assume the sequence is arithmetic. Find the
10" term. Then, pretend the sequence is
geometric. Find the 70" term.

2,4,...,1/110




Order Correctly

Given the 6 problems below, order the
answers from least to greatest

1
L Ugof 7.1,3,,uy 2. §0f 2,5,8,...,u,

3. Usot3,9, ..., u 4. S, of 64,32,16,...,u

5

S. Uy of2,4,6,...,u5 6. S, of 64,32,16,...,u,



How can money be worth the same amount, but have different values

ntial Question Essential Question Essential Question Essential Question

Essential Question Essential Question Essential Question Esse

Week 13, Lesson 2 == Currency Conversion

How can money be worth the same amounjiF

1 ’ Warm-up . 2 but have different values?
2. Currency Conversion

3. ICA
§4. STUDY!

Warm-up Warm-up Warm-up Warm-up Warm-up Warm-up Warm-up Warm-up Warm-up Warm-up Warm-up Warm-up Warm-up Warm-up Warm-up Warm-up Warm-up

Warm-up:
1) Robert can either be paid $50 to start and earn a $15

) raise each day, or he can bepaid|$800 lgo start and have
his'dailyPpay cuttinddekihs. If he plans on working for

—> 10 days, which plans best?
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Currency Conversion

Converting Units:  -ldentify the starting amount

-Set up the giant fraction bar

100 gy | 3 pevos -You can only cancel out a unit when it is
| 1 W on top AND bottom of the fraction bar

100413 -Multiply across the top
1

-Multiply across the bottom

100 dollars = 1,300 pesos -Simplify the answer

Example 1.  Mr. Henderson takes his life savings to
Europe, all 75 dollars (USD) . In London,
is worth 6@gpoundsy@BRS). Then he is
traveling to Sweden. dgBRSpis worth 10:9'S
I (SKE), How much is Mr. Henderson's $75
worth in Swedish Krona?

v

~
-

754604109
1001

Example 2: While traveling to Europe, Greg had 1,500 dollars
(USD). In Spain, they only accept euros (EUR). 100
USD converts to72 EUR. Greg spent 42 eurosjin
Spain before leaving for London. Tn London, they
only accept pounds (GBP). 100 EUR converts to 83
GBP. He spent 100 pounds iff Condon. How much
morey did he have in USD after the trip?

1500 s WEVR. _ 15%T2 _ hepe R

[bosn, m _Hapue
= 1033 £UR
BrRue(Basf _ 10883 _ gy oy GoP
Mese /o2 — (000 LeP
16154 Gae
o5y tao [IDRURL IOONSD oy iy

B | WER = — 5o

Greg has $ (USD) left after his trip.
{d 1153

Summary: )



ICA: In Class Activity ICA: In Class Activity ICA: In Class Activity ICA: In Class Activity ICA: In Class Activity ICA: In Class Activity ICA: In Class Activity ICA: In Class Activit

ICA: In Class Activity ICA: In Class Activity ICA: In Class Activity ICA: In Class Activity ICA: In Class Activity ICA: In Class Activity ICA: In Class Activity ICA: In Class Activity

. Week 13 Leson 2 ICA Homework.docx

ICA: D

$1USin Foreign Currency
Foreign Currency  in $1 US
Britain | Pound | 049 204
France | Euro 0.73 138
Mexico | Pesos 10.78 0.09
China Yuan 757 0.13
Sm \0 Mo Japan | Yen | 121.82 0.008

1) 3 dollars = cunds 6) 3000 yen= dollars
|\vSp <45 -

2310 dollarz = euros T) 630 Yuan= dollars
37 50 dollars = pesos 2) 850 euros = dollars
43150 dollars = Yuan 9) 700 pounds = dollars
5) 1000 dollars = yens 10) 300 pesos = dollars

The Port of Long Beach charges ships for the time they are at the dock being loaded and
unloaded. The length of the vessel determines the daily charge. A ship that is 200 meters long
must pay 52 882 00 per day.

11} If the ship iz from China, how many Yuan would the company pay for each day?

12) If the ship was from France, how many euros would the company pay for each day?



ICA: In Class Activity ICA: In Class Activity ICA: In Class Activity ICA: In Class Activity ICA: In Class Activity ICA: In Class Activity ICA: In Class Activity ICA: In Class Activit,

ICA: In Class Activity ICA: In Class Activity ICA: In Class Activity ICA: In Class Activity ICA: In Class Activity ICA: In Class Activity ICA: In Class Activity ICA: In Class Activity

An SwWers. Country Money 3$1USin Foreign Currency

Foreign Currency

Britain | Pound | 049 204

France | Eurc 0.73 1.38

Mexico | Pesos 10.78 0.09

China Yuan 1.57 013

Japan Yen 121.82 0.008
13 3 dollars = 2-45pouﬂds 6) 5000 yen = 40 dollars o
2310 dollars = 7-30 EUL0E ?3650&'m=84'50d0113m
3) 50 dollars = 539 pesos ) 830 enros = 1 21 73 dollars

150 dottars = 1,135.5vuan 9) 700 pounds =1 !428dolla.ts

571000 dottars = 121,820 yens 10) 500 pesos = 45 dollars

The Port of Long Beach charges ships for the time they are at the dock being loaded and
vnloaded. The length of the vessel determines the daily charge. A ship that iz 200 meters long
must pay 52882 00 per day.

11) If the ship is from China, how many Yuvan would the company pay for each day?

21,816.74 Yuan

12} If the ship was from France, how many euros would the company pay for each day?

2,103. 86 euros



How can I use this information to help chose a bank account?

Essential Question Essential Question Essential Question Essential Question Essential Question Essential Question Essential Question

Week 13, Lesson 3 - ; e
i i ow can [ use this information to
1 . Warm'up E help chose a bank account?

2. Simple and

Compound Interest =}
3. Notebook check == _ 9 1
4. STUDY! ==

Warm-up Warm-up Warm-up Warm-up Warm-up Warm-up Warm-up Warm-up Warm-up Warm-up Warm-up Warm-up Warm-up Warm-up Warm-up Warm-up Warm-up

Warm-up: From your IB reference sheet, find the
formula for Simple and Compound Interest

Simple Interest Compound Interest




Notes Notes Notes Notes Notes Notes Notes Notes Notes Notes Notes Notes Notes Notes Notes Notes Notes Notes Notes Notes Notes Notes Notes Notes Notes Notes

Interest

Principle:

r:

[=

Simple Interest:

Compound Interest:

-The original balance
-The annual interest RATE being applied
-The number of compound periods per year

-The number of years
-You may also use ¢ for time

-Interest is applied only on the principle
balance at the end of the year

-This gives the amount of INTEREST, not
the balance of the account

] = Pe d of

100

-Interest is applied multiple times per year
-Interest builds on itself

A=Pd1+——
100k

ken




Practice Problems

Example 1- Robert owes $10,000 in student loans, but he doesn't
have to start paying it off yet. His APR is 9% and is
compounded daily. What will the balance be for his
student loans after 1 year? 3 years? 5 years?

FV= PVX(1+—I )kn Pv=10000
— 100k r= 9

k=35

9 (365)(1)
FV= 10000 x (1450 e |
100(3653) =

0000 x (1+(2= L)~ (365X 1)

Example 2- Every year, Gabby's bank gives her 4% of her initial
deposit as an interest payment. She deposited $2,000
10 years ago. How much money did she profit in
interest? How much money is in her account now?

P= 2000
of V= L‘
+=10

2000+ (5 )+10 = 800

r

100

I =Po

Gabby now has $2,800 in her account.



ty ICA: In Class Activity ICA: In Class Activity ICA: In Class Activity ICA: In Class Activity ICA: In Class Activity ICA: In Class Activity

ICA: In Class Activity ICA: In Class Activity ICA: In Class Activity ICA: In Class Activity ICA: In Class Activity ICA: In Class Activity ICA: In Class Activity ICA: In Class Activit,

Savings Accounts

You have to choose between 2 different savings
accounts at Wells Fargo. You are depositing $10,000

Option A offers .03% APR compounded daily
Option B offers .05% simple interest

Which option will earn you more money after 15
years? What 1s the difference?



Am I ready for my quiz? How did I prepare for this quiz?

Essential Question Essential Question Essential Question Essential Question Essential Question Essential Question Essential Question

Week 13, Lesson 4 == Quiz Review

Am I ready for my quiz?
How did I prepare for this quiz?

1. Warm-up

2. Quiz Review :
3.QUIZ + 9 3

Warm-up Warm-up Warm-up Warm-up Warm-up Warm-up Warm-up Warm-up Warm-up Warm-up Warm-up Warm-up Warm-up Warm-up Warm-up Warm-up Warm-up

Warm-up:
1) Kaitlin can either be paid $80 to start and earn a $20
raise each day, or she can be paid $400 to start and have
her daily pay cut in half. If she plans on working for 5
days, which plan is best?

2. What has a greater value, the 75t term of sequence a, or the sum
of the first 15 terms of sequence 5?

a=5,8,11,..a,; b=100,50,25, ... b

3. 100 British Pounds (BPS) converts to 120 Euros (EUR).
1000 EUR converts to 1473 Australian Dollars (AUD). If I
have 250 BPS, how much is that worth in AUD?

4. While traveling to Europe, Cynthia had 280 dollars (USD). In
Spain, they only accept euros (EUR). 100 USD converts to 72
EUR. Cynthia spent 35 euros in Spain before leaving for London.
In London, they only accept pounds (GBP). 100 EUR converts to
83 GBP. She spent 70 pounds in London. How much money did
she have in USD after the trip?

5. Carlos took out $10,500 in student loans before starting college.
His interest rate is 3.5%, compounded daily. He doesn’t need to
start making payments until he graduates 4 years after taking out
the loans. What is the balance of his student loans when he needs
to begin paying off the balance?






Attachments

Arithmetic SUM.pdf
Arithmetic.pdf
geometric.pdf
geometric sum.pdf

Week13 QUIZ.docx

DDDDPDPD

Week 13 Leson 2 ICA Homework.docx



(“n+

In)






L)

150 +

QUL

L)
1Sa1)
UL

6

pPoppE
SUI9(Qq SuLId)
Jo Joquinu

QUL

SULI) U JO

wng 94 1,






SMART Notebook







(q
sogued
M TeyM)

OUIIJIP
oo
210)!

X

I0J
SUrOO]
dIe NOA
Ioqunu
wLIo)

QUL

l_l

L)

LN

L)

E: @HMF‘—L






SMART Notebook


n—1






onel

[- SuLd) Jo —
roqumy 21 oo wIo)
O @grﬂg ¥ ‘_” @grﬁL W)
1 PIsTEY

X E: @gr‘—L






SMART Notebook


Sum of
the first
n terms

1" term

Common Ratio

Common
Ratio
raised to
the n"
term

-1
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Math Studies 4 Week 13 QUIZ



1. Kaitlin can either be paid $60 to start and earn a $30 raise each day, or she can be paid $500 to start and have her daily pay cut in a third. If she plans on working for 7 days, which plan is best?













2. What has a greater value, the 60th term of sequence a, or the sum of the first 12 terms of sequence b?





				













(Total: 6 marks)(Standard 1.7)        (Total: 6 marks)(Standard 1.8) 

E:6;   P:5;  A:4; S:3-1; N: blank   E:6;   P:5;  A:4; S:3-1; N: blank

3. 110 British Pounds (BPS) converts to 150 Euros (EUR). 1500 EUR converts to 2209 Australian Dollars (AUD). If I have 150 BPS, how much is that worth in AUD?























(Total: 6 marks)(Standard 1.5) 

E:6;   P:5;  A:4; S:3-1; N: blank

4. Carlos took out $11,750 in student loans before starting college. His interest rate is 5.5%, compounded daily. He doesn’t need to start making payments until he graduates 4 years after taking out the loans. What is the balance of his student loans when he needs to begin paying off the balance?

















(Total: 6 marks)(Standard 1.9) 

E:6;   P:5;  A:4; S:3-1; N: blank



Math Studies 4 Week 13 QUIZ



1. Kaitlin can either be paid $60 to start and earn a $30 raise each day, or she can be paid $500 to start and have her daily pay cut in a third. If she plans on working for 7 days, which plan is best?













2. What has a greater value, the 60th term of sequence a, or the sum of the first 12 terms of sequence b?





				













(Total: 6 marks)(Standard 1.7)        (Total: 6 marks)(Standard 1.8) 

E:6;   P:5;  A:4; S:3-1; N: blank   E:6;   P:5;  A:4; S:3-1; N: blank

3. 110 British Pounds (BPS) converts to 150 Euros (EUR). 1500 EUR converts to 2209 Australian Dollars (AUD). If I have 150 BPS, how much is that worth in AUD?























(Total: 6 marks)(Standard 1.5) 

E:6;   P:5;  A:4; S:3-1; N: blank

4. Carlos took out $11,750 in student loans before starting college. His interest rate is 5.5%, compounded daily. He doesn’t need to start making payments until he graduates 4 years after taking out the loans. What is the balance of his student loans when he needs to begin paying off the balance?

















(Total: 6 marks)(Standard 1.9) 

E:6;   P:5;  A:4; S:3-1; N: blank
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Week 13 Lesson 2

Currency Conversion ICA and Homework

Use the following chart to complete the problems. Be very careful to use the correct column. 

		Country

		Money

		$1 US in 

Foreign Currency

		Foreign Currency in $1 US



		Britain

		Pound

		0.49

		2.04



		France

		Euro

		0.73

		1.38



		Mexico

		Pesos

		10.78

		0.09



		China

		Yuan

		7.57

		0.13



		Japan

		Yen

		121.82

		0.008





 

		1) 5 dollars = ____________pounds

		6) 5000 yen = ____________dollars



		2) 10 dollars = ____________euros

		7) 650 Yuan = ____________dollars



		3) 50 dollars = ____________pesos

		8) 850 euros = ____________dollars



		4) 150 dollars = ____________Yuan

		9) 700 pounds = ____________dollars



		5) 1000 dollars = ____________yens

		10) 500 pesos = ____________dollars







The Port of Long Beach charges ships for the time they are at the dock being loaded and unloaded. The length of the vessel determines the daily charge. A ship that is 200 meters long must pay $2,882.00 per day. 

11) If the ship is from China, how many Yuan would the company pay for each day?







12) If the ship was from France, how many euros would the company pay for each day?





Week 13 Lesson 2

Currency Conversion ICA and Homework

Use the following chart to complete the problems. Be very careful to use the correct column. 

		Country

		Money

		$1 US in 

Foreign Currency

		Foreign Currency in $1 US



		Britain

		Pound

		0.49

		2.04



		France

		Euro

		0.73

		1.38



		Mexico

		Pesos

		10.78

		0.09



		China

		Yuan

		7.57

		0.13



		Japan

		Yen

		121.82

		0.008





 

		1) 5 dollars = ____________pounds

		6) 5000 yen = ____________dollars



		2) 10 dollars = ____________euros

		7) 650 Yuan = ____________dollars



		3) 50 dollars = ____________pesos

		8) 850 euros = ____________dollars



		4) 150 dollars = ____________Yuan

		9) 700 pounds = ____________dollars



		5) 1000 dollars = ____________yens

		10) 500 pesos = ____________dollars







The Port of Long Beach charges ships for the time they are at the dock being loaded and unloaded. The length of the vessel determines the daily charge. A ship that is 200 meters long must pay $2,882.00 per day. 

11) If the ship is from China, how many Yuan would the company pay for each day?







12) If the ship was from France, how many euros would the company pay for each day?
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